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CURVE TRACING

Illustrations

1. Draw the graph of 

Watch Video Solution

y = x − sin x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HBakvtEl0L0Q


2. Draw the graph of 

Watch Video Solution

y = 2 cos x + sin 2x

3. Draw the graph of 

Watch Video Solution

y = sin x cos2 x

4. Draw the graph of

Watch Video Solution

f(x) = x cos x − sin x, x ∈ [ − 3π, 3π]

https://dl.doubtnut.com/l/_HJbyePyfbBcq
https://dl.doubtnut.com/l/_vlO1ZnknZTmB
https://dl.doubtnut.com/l/_RBhjNd5rOqEh


5. Draw the graph of the function

.

Watch Video Solution

f(x) = x − √x

6. Draw the graph of .

Watch Video Solution

y = f(x) =
x2

x2 + 1

7. Draw the graph of x2 / 3y2 / 3 = 1

https://dl.doubtnut.com/l/_RBhjNd5rOqEh
https://dl.doubtnut.com/l/_aejspjzqAPjA
https://dl.doubtnut.com/l/_DY0xgArUhjy6
https://dl.doubtnut.com/l/_W16wBOhK6HoH


Watch Video Solution

8. Draw the graph of

.

Watch Video Solution

y = (x − 1)(x2 − x + 1)

9. Draw the graph of 

Watch Video Solution

y = ex + e − 2x

https://dl.doubtnut.com/l/_W16wBOhK6HoH
https://dl.doubtnut.com/l/_jq0vWtNbSVKb
https://dl.doubtnut.com/l/_eoncsdl4Csco


10. Draw the graph of .

Watch Video Solution

y = |x|

11. Draw the graph of  


i) Find the point of maxima/minima. 

ii) Find the asymptote is any. 

iii) Find the range of the function. 

iv) Find the number of roots of the equation

Watch Video Solution

f(x) = x2e − |x |

f(x) = 1

https://dl.doubtnut.com/l/_C2dB4eXB7Gsp
https://dl.doubtnut.com/l/_IcM0n74JwXFC


12. Number of integral values of 
 for which

the equation 
 has three distinct

solutions is____

Watch Video Solution

b

− x = b
x3

3

13. Find the maximum value of 

Watch Video Solution

f(x) = ( )
x1

x

https://dl.doubtnut.com/l/_IcM0n74JwXFC
https://dl.doubtnut.com/l/_jCpfcokJmIsc
https://dl.doubtnut.com/l/_RXf3blvjYj1o


14. Draw the graph of the function

Watch Video Solution

f(x) = (1 + )
2

1

x

15. Discuss the number of roots of the

equation 
 for different

value of 

Watch Video Solution

e(k − x log x) = 1

k.

https://dl.doubtnut.com/l/_LvrlZqXIKS0D
https://dl.doubtnut.com/l/_CfLEmsG5Ok8m


16. Draw the graph of

Watch Video Solution

f(x) = loge(√1 − x2 − x)

17. Draw the graph of .

Find the point of inflection.

Watch Video Solution

f(x) = ln(1 − ln x)

https://dl.doubtnut.com/l/_NNWWbjPmyvnK
https://dl.doubtnut.com/l/_ktbs3cZ4Rfxn


18. Draw the graph of the function

Watch Video Solution

f(x) = 2x2 − loge|x|

19. Draw the graph of 

Watch Video Solution

y = loge(x3 − x)

20. Draw the graph of 

Watch Video Solution

f(x) = √1 − e − x2

https://dl.doubtnut.com/l/_h6pOxt8cWh1V
https://dl.doubtnut.com/l/_YDdAOt3Gx0mr
https://dl.doubtnut.com/l/_IewQEZZK4E0U


21. Draw the graph of the relation

Watch Video Solution

y2 = x2(1 − x)

22. Draw the graph of the relation

Watch Video Solution

4y2 = x2(4 − x2)

https://dl.doubtnut.com/l/_IewQEZZK4E0U
https://dl.doubtnut.com/l/_31nT6hxOJzkT
https://dl.doubtnut.com/l/_Kyz8JIZ71oYS


23. Draw the graph of the relation

Watch Video Solution

(y − x)2 = x3

24. Draw the graph of 

Watch Video Solution

y = x3 / 5

25. Draw the graph of 

Watch Video Solution

y = x2 / 5

https://dl.doubtnut.com/l/_TTCgmI4BU6Oq
https://dl.doubtnut.com/l/_nyfrRAVd8YYA
https://dl.doubtnut.com/l/_9E2ce05mBm6k


26. Draw and discuss the graph of

Watch Video Solution

f(x) = x2 / 3 − x4 / 3

27. Draw the graph of 

Watch Video Solution

f(x) = 12x − 6x
4
3

1
3

https://dl.doubtnut.com/l/_9E2ce05mBm6k
https://dl.doubtnut.com/l/_tTCLbRVBAfJn
https://dl.doubtnut.com/l/_bfFExl56AZuf


Exercise

28. Draw the graph of the relation

Watch Video Solution

y2(x − 1) = x2(1 + x)

29. Draw the graph of .

Watch Video Solution

y = √
1 − x

1 + x

https://dl.doubtnut.com/l/_nzX6nm5PhiNg
https://dl.doubtnut.com/l/_QwRxk2y0J9Su


1. Draw the graph of 

Watch Video Solution

y = sin2 x − cos x

2. Draw and discuss the graph of

Watch Video Solution

f(x) = x + √x − 1

3. Draw the graph of 

Watch Video Solution

y = √1 + x2 − x

https://dl.doubtnut.com/l/_bnHlU7bBHSne
https://dl.doubtnut.com/l/_JIHjKpQvssXc
https://dl.doubtnut.com/l/_ygsrOg8EdwXb


4. Draw the graph of

Watch Video Solution

y = (√x2 + 1 − √x2 − 1)

5. Draw the graph of 

Watch Video Solution

y =
√x

x − 1

https://dl.doubtnut.com/l/_ygsrOg8EdwXb
https://dl.doubtnut.com/l/_qxW6yna4yPxt
https://dl.doubtnut.com/l/_gdY5sx9dcpwg


6. Draw the graph of the relation

Watch Video Solution

y = |x|√1 − x2

7. Draw the graph of .

Watch Video Solution

y = √
1 − x

1 + x

8. Draw the graph of .

Watch Video Solution

|x| + |y| = 1 + x

https://dl.doubtnut.com/l/_OEdD0MZGV2k9
https://dl.doubtnut.com/l/_dGiF00hXO0tq
https://dl.doubtnut.com/l/_2FRVNlNemLDy


9. Draw the graph of 

Watch Video Solution

y =
3√x2 + 1

x − 1

10. Draw and discuss the graph of the function

Watch Video Solution

f(x) = e1 / x

11. Draw the graph of y =
1

loge x

https://dl.doubtnut.com/l/_2FRVNlNemLDy
https://dl.doubtnut.com/l/_bhFPVkuOubXE
https://dl.doubtnut.com/l/_l6tYigtbBMnf
https://dl.doubtnut.com/l/_2NONxboqsJvZ


Watch Video Solution

12. Draw the graph of 

Watch Video Solution

y =
1

loge x

13. Draw the graph of . Discuss

the concavity of the graph.

Watch Video Solution

f(x) = e − x2

https://dl.doubtnut.com/l/_2NONxboqsJvZ
https://dl.doubtnut.com/l/_TCTiU3n39atI
https://dl.doubtnut.com/l/_D9WNkLiP6zld


14. Draw the graph of . Also

find the point of inflection.

Watch Video Solution

f(x) =
ex

1 + ex

15. Draw the graph of the function `f(x)=x^2

Watch Video Solution

16. Draw the graph of 

Watch Video Solution

y = x /ln x

https://dl.doubtnut.com/l/_osNbGGAc9cOO
https://dl.doubtnut.com/l/_SwSFvtWyrXtY
https://dl.doubtnut.com/l/_grGtKwFWtdSp


17. Draw the graph of 

Watch Video Solution

y = (loge x)2

18. Draw the graph of 

Watch Video Solution

y = loge(x2 − 1)

19. Draw and graph of . Also

find the range.

f(x) =
4 loge x

x2

https://dl.doubtnut.com/l/_grGtKwFWtdSp
https://dl.doubtnut.com/l/_0Ggzf8nrinG6
https://dl.doubtnut.com/l/_tTVto5WD0MzB
https://dl.doubtnut.com/l/_bnNcDmeGgq5Q


Watch Video Solution

20. Draw the graph of the relation

Watch Video Solution

y2 = x5(2 − x)

21. Draw the graph of  and

discuss the type of non-differentiability for the

function. Also find the point of inflection.

Watch Video Solution

f(x) = 2x + 3x2 / 3

https://dl.doubtnut.com/l/_bnNcDmeGgq5Q
https://dl.doubtnut.com/l/_JEYXtA7ypA3c
https://dl.doubtnut.com/l/_If1pSXToJ2al


22. The function 
 has two

inflection points
has one point of extremum
is

non-differentiable
has range 

Watch Video Solution

f(x) = x (x − 1)
1
3

[ − 3x2− , ∞)
8
3

23. Draw the graph of .

Watch Video Solution

y =
ex − e − x

2

https://dl.doubtnut.com/l/_If1pSXToJ2al
https://dl.doubtnut.com/l/_SIOLfxDBfzf5
https://dl.doubtnut.com/l/_hQZxeesa513E


24. Draw the graph of

Watch Video Solution

y = loge(x + √x2 + 1)

https://dl.doubtnut.com/l/_NkotgsodkqzX

